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1	Introduction
In RAN4 96-e, the following topic has been discussed. Companies’ views were summarized in WF [1], the content copied below: 
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This paper discusses the open issue listed above in the WF and provide our view.
2	Discussions
From the last meeting, companies have a little bit different views on the topic listed above mainly because of different assumptions on UE behavior under SCell activation. Some companies thought that AGC may cause interruptions while some proposed that only RF retuning would cause interruptions. In our view this is largely dependent on different UE implementations.
However, as pointed out in the later stage of the last meeting, when we talk about inter-band CA, it means the PCell is in licensed band while SCell in unlicensed. This would mean that a separate RF chain may be needed for the SCell, thus, a single interruption window is enough. We support Option 3 from the last meeting which is for inter-band CA, the interruption is not the same as for intra-band case and a single interruption applies.
For inter-band CA, the interruption is not the same as for intra-band case and a single interruption applies.
3	Conclusion
[bookmark: _GoBack]Proposal 1: For inter-band CA, the interruption is not the same as for intra-band case and a single interruption applies.
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SCell Activation (cont.)

* Multiple interruption windows

* For intra-band CA, while the SCell being activated is unknown or known with
measurement cycle >160ms, up to (1+L) interruption windows are allowed during SCell
activation, where L is the number of occasions that at least one SSB from SCells already
activated or SCell being activated in the same band is not available before the first
successful SSB transmissions subject to Tsyrc max

« For inter-band CA: FFS

* Inter-band CA:
* Option 1: for inter-band CA, the interruption is the same as for intra-band case

* Option 2: for inter-band CA, the interruption is not the same as for intra-band case, while multiple
interruptions are still needed

* Option 3: for inter-band CA, the interruption is not the same as for intra-band case and a single
interruption applies




